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Lesson 6
LO: To convert between units of measure
Success Criteria:

Identify your number

Converting to km, divide by 1000

Converting to m, multiply by 1000

bl bl 1o b

Write your sentence

Model

Now you try...

2km 6000m 5km 3000m

Conversion: 1000m = Tkm
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Lesson 5
LO: To compare 3-4 digit numbers

Task:

Success Criteria:

Identify your number

Converting to km, multiple by 1000

Converting to m, divide by 1000

BLN=

Write your sentence

Model:

1. -2. - 3.

Conversion: 1000m = Tkm
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Canonbury Home Learning
Year 4 Maths Main activity

Complete at least 2 columns, more if you can!

Task 1 Task 2 Task 3 Task 4
Practice Practice Reasoning Problem solving
Convert these Converi- i-hese Explqin your answers. 1. Investigate the different combinations of cards that could fill in the statement below.
measurements | measurements
‘|ooom - ‘|km ‘|ooom — ‘|km éa. Jakub has cycled 2,500m.
Morgan has cycled 2km. >
1. 3 2km 1. 9000m Morgan says,
' 4 . ~
2. 7500m 2. 3250m I've CV:_'Td the
50 5“'::’ Jq'ls(:t:ce 6-1km 8-3km 6,500m 92 km 0.5km
3. 4000m 3.7 1/2km
Is Morgan correci? Explain your answer. ;
8-4km 65m 550m 5--km 6,750m
4. 6km 4. 4km
8a. Is the following statement correct?
5. 9500m 5.8 1/2km Tips
5 L =i e Try and use all the different lengths
-~ q0 © undre
6. 2km 6. 5000m akm | > 12 0m | < | anany and measurements.
st e How many different combinations

Explain your answer.

8. 5km 8. 250m




